

ಸಂಪುಟ-155 Volume-155 ಬೆಂಗಳೂರು, ಗುರುವಾರ ,11, ಜೂನ್, 2020(ಬ್ಯೇಷ್ಠ ,21, ಶಕವರ್ಷ ೧೯೪2) Bengaluru, THURSDAY, 11, JUNE, 2020(JYAISTHA ,21, ShakaVarsha 1942)

ಸಂಚಿಕೆ -24 Issue - 24

GOVERNMENT OF KARNATAKA

No. RD 41 SSM 2019

Karnataka Government Secretariat, M.S. Building, Bengaluru, dt: 11.12.2019

NOTIFICATION

In exercise of the powers conferred under section 5(2) of the Waqf Act, 1995, as amended during 2013 (27 of 2013) the Government of Karnataka, Minority Welfare Department has forwarded the proposals received from the Deputy Commissioner, Addl. Commissioner of Survey, Chikkamagaluru District, Chikkamagaluruto the Board in letter No.Wakf/CR/06/2019-20, dated:15.08.2019. It is verified and approved by the Administrator, Karnataka State Board of Auqaf on11-09-2019. The Govt. of Karnataka is hereby notify that the following immovable properties are Waqf properties.

Name of the District: CHIKKAMAGALURU

Name of the Taluk: TARIKERE

| | | | | Locatio | n & Details of Waq | f Property. | | | | | | | Administr | | |
|-----------|--------------------------------------|---------------------|-----------------------------------|---|---|--|-----------------------------|---|---------------------------------|-----------------------------|-------------------|--------------------------------------|---|---|--------------|
| SI. No | Name & Address of the Institution | Sunni or Shia | City/ Town / Villag e | Sy. No./ CTS No. /Khata No. | Extent (Acre-Gunta / Sq. Ft.) | Boundaries | Value Rs in Lakh s | Year of creation of Waqf/ C.R. No. and Date | Name and Address of Waqif | Benefi ciaries if any | Object of Waqf | Gross Annual Income of Waqf | ation by Custom/ Hereditar y or Settled by Court or Hereditar y | Sche me appro ved by Boar d | Remarks |
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8 | 9 | 10 | 11 | 12 | 13 | 14 | 15 | 16 |
| | | | | Municipal Asst. No. 4690/ 4549 | 60' X 60 = 3,600 Sq. Ft. | North: Conservancy. South: Road. East: Masjid Site. West: Masjid Site. | 22.00 | | | | | | | | |
| | | | | Municipal Asst. No. 4691/ 4550 | 30' X 60' = 1,800 Sq. Ft. | North: Conservancy South: Road. East: Road. West: Madeena Masjid. | 10.75 | | | | Masjid | | | | As per Khata |

| | Sunni Madeena Masjid | | | Municipal Asst. No. 4689/ 4548 | 30' X 60' = 1,800 Sq. Ft. | North: Conservancy. South: Road. East:MadeenaMasjid West: Site No. 57. | 11.00 | KSBA/REG/ | | | | | | | |
|----|--|-------|----------------------|--|--|--|-------|--|---------------|------------------|-------------------|------------|--------------|------|----------------|
| 1. | AhaleSunnathulJama ath, and Its allied properties, Kodicamp, | Sunni | Tari kere Town | Municipal Asst. No. 4688/A/ 4547/A | 10' X 20' = 200 Sq. Ft. | North: Anganawadi South: Road. East: Site No. 57 Bheemanna. West: Anganawadi | 1.20 | 3/CMR/ 2016-17, Dtd: 20-02-2018 | Muslim Jamath | Muslim Jamath | Vacant Site | 3,66,843/- | By custom | -YES | Khata Effected |
| | Tarikere Town and Taluk. | | | Municipal Asst. No. 4673/ 4532 | 30' X 60' = 1,800 Sq. Ft. | North: Conservancy. South: Road. East: Site No. 3105. West: Site No. 3103. | 11.00 | 20 02 2010 | | | House | | | | |
| | | | | Municipal Asst. No. 4767/ 4621 | 50' X 80' = 4,000 Sq. Ft. | North: Abdul Raheem. South: Sy. No. 22. East: Road. West: Masjid Site. | 24.00 | | | | Shadi Mahal | | | | |
| | | | | Municipal Asst. No. 5872/25 | 13' X 60' = 780 Sq. Ft. | North: Railway Line. South: B.H. Road. East: Kaluve. West:Mohammed Shafi. | 8.00 | | | | Vacant Site | | | | |
| | | | | Sy. No. 187 | 5A-36G | North: Sy. No. 154, 182, 186 Properties. South: Sy. No. 188. East: Sy. No. 185, 190. West: Sy. No. 44. | 60.00 | KTW/REG/ 1/CMR/ 1982-83, | | | Lalbagh Eidgah | | | | |
| | | | | Asst. No. 4347/ 4231 | 270' X 175' = 47,250 Sq. Ft. | North: Sy No. 187. South: Road. East: Drainage. West: Sy. No. 187. | 47.25 | Dtd: 12-08-1987 | | | Site | | | | As per Khatha |
| | ALES ID S | | | Asst. No. 1182/ 1105 | 37' X 136' = 5,032 Sq. Ft. | North: Masjid Property.South: House of Harish and Param. | 23.00 | KTW/REG/ 3/CMR/ 1988-89, Dtd: | | | Madarasa | | | | |
| 2. | Additional Properties belonging to Masjid-e-Bazar | Sunni | Tari | | | East: Private Property. West: M.G. Road. | | 17-02-1989 | Muslim Jamath | Muslim Jamath | | 18,00,600/ | By | -YES | Khata Effected |
| 2. | Masjid-e-Bazar Trust, Tarikere Town and Taluk. | Sunni | kere Town | Old Asst. No. 1633/ 1531 New Asst. No. 1633/ 1531 | 30' X 28' = 840 Sq. Ft. & 50' X 92' = 4,600 Sq. Ft. Total 5,440 Sq.ft | North: Road. South: Road. East: Road. West: Mohammed Ibrahim. | 40.00 | KTW/REG/ 6/CMR/ 1989-90, Dtd: | | | Site | - | custom | - | |

| | | | | Old Asst. No. 342/333 New Asst. No. 415/407 | 73' X 84' = 6,132 Sq. Ft. | North: B.K. Shankarappa. South: Road. East: Road and Pond. West: Abdul Raheem Sab | 18.00 | 02-05-1990 | | | Site | | | | |
|----|--|-------|-----------------------|--|--|---|---|---|--|------------------|---|------------|--------------|------|--|
| 3. | Additional Properties of Jamia Masjid, | | Tari kere Town. | Asst. No. 3041/ 2931 & 3040/ 2930 | (205' + 264') 2X (200' + 205) 2= 47,486.25 Sq. Ft. 40' X 165' = 6,600 Sq. Ft. Total = 54086.25 Sq.ft. | North: Kanamanahatti Road. South: Road. East: Conservancy. West: Road. | 2.70. 00 (2 Crore 70 Lakhs) | KTW/REG/ 2/CMR/ 1983-84, | Muslim Jamath | Muslim | Dargah HazrathKha landar Sha Wali(R.A.) and Bara Imam Compound. | 3.98.560/- | By | -YES | As Per CR. 134' + 248' 2 165' + 160' 2 =31,037.5 Sq. Ft. As per Sketch and Possession =54,086.25 Sq. Ft. Excess = 23,048.75 Sq. Ft. |
| J. | Tarikere Town and Taluk. | Sunni | Mach enaha | Sy. No. 161 | 2A-33G | North: Shivamogga to Bangalore Road. South: Sy. No. 163. East: Sy. No. 162. West: Sy No. 164. | 2.90. 00 | Dtd: 23-05-1987 | Washin Janach | Jamath | Dargah Hazrath Jahan Sha Peer | 3,70,300/- | custom | -115 | |
| | | | lli | Sy. No. 162 | 0A-19G | North: Shivamogga to Bangalore Road. South: Sy. No. 162. East: Sy. No. 162. West: Sy No. 161. | Crore Ninety Lakhs) | | | | WaliAlla (R.A.) and Eidgah | | | | Khata Effected |
| | | | Gali halli | Sy. No. 15 Sy. No. 22 | 2A-0G 3A-20G | North: Sy. No. 21. South: Road. East: Road. West: Sy. No. 16. | 05.00. 00 (5 Crore approx). | | | | Town Khabrastan | | | | |
| 4. | Jamia Masjid, Dornalu, Tarikere Taluk. | Sunni | Dora nalu | Asst. No. 271 | 31' X 75' = 2,325 Sq. Ft. | North: Road. South: Narasappa. East: Vacant Site. West: Dilshad Ahmed Khan Afreed. | 3.00 | KTW/REG/ 6/CMR/ 2006-07, Dtd: 27-02-2007. | Hayath Khan Sab, S/o. Umar Khan, Dornalu | Muslim Jamath | Masjid | 13,600/- | By custom | -YES | Khata Effected |
| 5. | Sunni Jamia Masjid, and Khabrastan, | | Linga | Asst. No. 927/656/1 Sy. No. 189. | 100' X 100' = 10,000 Sq. Ft. | North: Remaining Land of the Masjid. South: Remaining Land of the Masjid. East: Remaining Land of the Masjid. | 5.00 | KTW/REG/ 2/CMR/ 2006-07, Dtd: 30-10-2006. | Muslim Jamath | Muslim | Masjid | | | | |

| | Lingadahalli, Tarikere Taluk. | Sunni | da halli | | | West: Remaining Land of the Masjid. | | | | Jamath | | 8,37,596/- | By custom | -YES | Khata Effected |
|----|---|-------|----------------------|--|--|---|-------|--|-----------------------------|-------------------|-------------|------------|--------------|----------------------------|--|
| | | | | Sy. No. | | North: Road. South:L.S. Shivanna. | | KTW/REG/ 1/CMR/ 1988-89, | Waqf by User Govt. Land. | | | | | | |
| | | | | 190 | 3A-31G | East: Chikkamagaluru to Tarikere Road. West:L.S. Shivanna. | 12.75 | Dtd: 06-07-1988. | | | Khabrastan | | | | |
| 6. | Jumma Masjid Sunni, AhaleSunnath-Wal- | Sunni | Kama na | Old Asst. No. 33. New Asst. No. 26. | 185' X 83' = 15,355 Sq. Ft. | North: M.M. Thomas. South: Road. (Siddarabylu Road). East: Shahida Banu. West: Masood and Haseena. | 10.70 | KTW/REG/ 5/CMR/ 1984-85, | Muslim Jamath | Musli m Jamath | Masjid | 99,800/- | Ву | -YES | Khata Effected |
| | Jamath, Santaveri, Tarikere Taluk. | | durga | Asst. No. 26 and 39 | 73' X 45' = 3,285 Sq. Ft. | North: Road. South: Road. East: Ramanayak. West: Road. | 6.80 | Dtd: 09-03-1988. | | | Masjid Site | ŕ | custom | - | |
| 7. | Dargah Hazrath Syed Abdulla Shah KhadrI (R.A.), Nandibattalu, Tarikere Taluk. | Sunni | Nandi battal u | Sy. No. 73. Asst. No. 87. | 142' + 172' 2 X 172' + 105' 2 =21,746 Sq. Ft. | North: Road and Shanidevara Temple. South: Teerthagiri S/o. Lakshmana. East: Syedu Khan Galli Road. West: Teerthagiri S/o. Lakshmana. | 13.00 | KTW/REG/ 1/CMR/ 1992-93, Dtd: 23-02-1993 | Waqf by User Govt. Land. | Musli m Jamath | Dargah | 44,600/- | By custom | -YES | As Per CR. 205' X 178' = 36,490 Sq. Ft As Per Sketch and Possession 21,746 Sq. Ft. Less: 14,744 Sq. Ft. Khata Effected |
| 8. | Jamia Masjid Sunni, Verthegundi, Tigada, Tarikere Taluk. | Sunni | Tigad a | Sy. No. 28 | 53' + 43' 2 X 67.32' =3,231.36 Sq. Ft. | North: Neelakanthappa Property. South: Road. East: Basheer and Anwar Property. West: PWD Road. | 2.50 | KSBW/REG / 04/CMR/ 2009-10, Dtd: 16-12-2010. | Muslim Jamath | Muslim Jamath | Masjid | 15,000/- | By custom | Deem ed Appro ved | Khata Effected |

| | | | | Asst. No. 135. | 50' X 40' = 2,000 Sq. Ft. | North:PanchayitiOoni. South: Road. East: Road. West: Panchayat Site. | 1.50 | | | | Masjid | | | | |
|-----|---|-------|----------------|--|------------------------------|---|-------|---|--|-------------------|---------------------------------------|----------|--------------|------|----------------|
| | Jamia Masjid and its allied properties, | | Sama | Asst. No. 134. | 46' X 44' = 2,024 Sq. Ft. | North: Road. South: Masjid Property East: Masjid Property. West: Hussain Sab Property. | 1.42 | KBW/REG/ 5/CMR/ 2015-16, Dtd: 17-03-2016. | Muslim Jamath | | Masjid Site | | | | |
| 9. | Samatala, Tarikere Taluk. | Sunni | tala | Asst. No. 133. | 46' X 26' = 1,196 Sq. Ft. | North: Road. South: Masjid Property East: Chota Sab House. West: Masjid Property. | 1.35 | | | Muslim Jamath | House | 53,000/- | By custom | -YES | Khata Effected |
| | | | | Sy. No. 137. | 3A-11G | North: Sy. No. 141. South: Sy. No. 131. East: Sy. No. 138 & 139. West: Sy. No. 136. | 12.50 | KTW/REG/ 4/CMR/ 2003-04, Dtd: 06-10-2003. | Waqf by User Govt. Land | | Khabrastan | | | | |
| | | | | Asst. No. 189. | 48' X 57' = 2,736 Sq. Ft. | North: Road. South: Urdu School. East: Road. West: Property belonging to Sy. No.07. | 1.60 | KTW/55/ SWR/77, Dtd: 17-09-1981 | Gift by 1) Safura Bi, 2) Mushthak Ahmed, | | Masjid | | | | |
| 10. | Jamia Masjid Sunni and its allied property, Baggavalli, Tarikere Taluk. | Sunni | Bagga valli | V.P. SI. No. 170 Asst. No. 258/203 | 21' X 30' = 630 Sq. Ft. | North: House of Beedi Hanumanna. South: Road. East: House of Bakshu Sab. West: House of Muddappa. | 0.90 | KSBA/REG/ 20/CMR /2017-18, Dtd: 03-01-2018. | 3) Arifunnisa, 4) Mohaboobunni sa, 5) MuhammadYu suf, 6) Nayeemunnisa 7) RabiyaBasri, 8) Muhammad Sadiq, | Musli m Jamath | Noorul Islam Arabic Madarasa | 47,000/- | By custom | -YES | Khata Effected |

| | | | Bagga valli Kaval | Sy. No. 1/P1. | 1A-10G | North: Sy. No. 1 remaining Land. South: Sy. No. 53. East: Baggavalli Village Border. West: Sy. No. 1 remaining Land. | 3.50 | KSBW/REG / 24/CMR/ 2011-12, Dtd: 05-04-2013. | Waqf by User Govt. Land | | Khabrastan | | | | |
|-----|---|--------|-------------------------|------------------------------------|------------------------------|--|-------|---|--|-------------------|-----------------|----------|--------------|------|----------------|
| 11. | Jamia Masjid, Channapura, Tarikere Taluk. | Sunni | Chan napur a | Sl. No. 354, P.R. No. 340 | 63' X 53' = 3,339 Sq. Ft. | North: Nirantara ShikshanaKalika Kendra & Urdu School. South: Conservancy and Inayathulla's House East: Basha Sab's House. West: Birur-Ajjampura Road. | 4.55 | KTW/REG/ 13/CMR/ 2002-03, Dtd: 04-06-2003. | Muslim Jamath | Musli m Jamath | Masjid | 12,300/- | By custom | -YES | Khata Effected |
| 12. | Muslim Khabrastan as Addl. Property of Jamia Masjid, Ajjampura, Tarikere Taluk. | Sunni | Ajjam pura | Sy. No. 176. | 2A-30G | North: Sy. No. 177. South: Sy. No. 175. East: Road. West: Sy. No. 179. | 14.80 | KSBA/REG/ 29/CMR/ 2017-18, Dtd: 21-05-2018. | Waqf by User Govt. Land | Muslim Jamath | Khabrastan | | By custom | -YES | Khata Effected |
| | | | | Asst. No. 331. | 46' X 64' = 2,944 Sq. Ft. | North: Tarikere to Hosadurga Road. South: Road. East: Site No. 332. West: Mastan Sab House. | 6.00 | KSBA/REG/ 65/CMR/ | Muhammad Inamullah S/o. Ahmed Jan | | | | | | |
| 13. | Additional properties belonging to Jamia Masjid, | Sunni | Gowr apura | Asst. No. 332. | 35' X 72' = 2,520 Sq. Ft. | North: Tarikere to Hosadurga Road. South: Road. East: Road. West: Site No. 331. | 5.50 | 2016-17, Dtd: 15-04-2017. | Muslim Jamath | Muslim Jamath | Masjid Sites | | By | -YES | Khata Effected |
| | Gowrapura, Tarikere Taluk. | - Zumi | арша | Sy. No. 60 | 2A-00G | North: Sy. 64. South: Sy. No. 60 & Hindu Smashana. East: Sy. No. 62. West: Halla. | 5.00 | KBW/REG/ 49/CMR/ 2014-15, Dtd: 27-06-2016. | Waqf by User Govt. Land. | Sumun | Khabrastan | | custom | - | |

| 14. | Muslim Khabrastan and Eidgah additional Property of Jamia Masjid, Kallenahalli, | Sunni | Kalle nahall i | Sy. No. 66 | 1A-25G | North: Remaining Land of Sy. No. 66. South: Remaining Land of Sy. No. 66. East: Sy. No. 65. West: Sy. No. 66 and Village. North: Remaining | 3.50 | KBW/REG/ 6/CMR/ 1995-96, Dtd: | Waqf by User Govt. Land. | Muslim Jamath | Khabrastan | | By custom | -YES | |
|-----|--|-------|----------------------|--------------------|--|---|-------|---|-----------------------------|------------------|--------------------------|----------|--------------|----------------------------|--|
| | Tarikere Taluk. | | | Sy. No. 44 | 0A-10G | Land of R. Sy. No. 44. South: Remaining Land of R. Sy. No. 44. East: Remaining Land of R. Sy. No. 44. West: Remaining Land of R. Sy. No. 44. | 1.50 | 26-10-1998. | | | Eidgah | | | | |
| 15. | Noorani Masjid, Billahalli Camp, Tarikere Taluk. | Sunni | Billa halli | Asst. No. 18. | 48.2' X 30.8' = 1,484.56 Sq. Ft. | North: Urdu School. South: Road. East: Road. West: Gram Panchayiti Property. | 1.20 | KBW/REG/ 9/CMR/ 2012-13, Dtd: 09-01-2013. | Muslim Jamath | Muslim Jamath | Masjid | 11,200/- | By custom | Deem ed Appro ved | Khata Effected |
| 16. | Dargah HazrathIshra Shah Wali (R.A.) and Khabrastan, Billahalli, Tarikere Taluk. | Sunni | Billa halli | Sy. No. 46 | 0A-30G | North: Sy. No. 40 Hiduvalli Land. South: Sy. No. 46. East: Sy. No. 46. West: Sy. No. 46. | 15.00 | KTW/REG/ 4/CMR/ 1983-84, Dtd: 25-02-1987. | Muslim Jamath | Muslim Jamath | Dargah and Khabrastan | 50,000/- | By custom | Deem ed Appro ved | As Per CR. 0A-2G, As Per Sketch and Possession 0A-30G Excess 0A-28G |
| 17. | Madeena Masjid AhaleSunnathulJama th, Station Duglapura, Tarikere Taluk. | Sunni | Dugla pura | Sy. No. 74/2A3. | 0A-20G | North: Remaining portion of Sy.No.74/2A South: N.R. Pura- Tarikere PWD Road. East: Remaining portion of Sy. No.74/2A West: Sy. No. 74/3A & 74/3B. | 12.00 | KTW/REG/ 1/CMR/ 1990-91, Dtd: 11-06-1990. | Muslim Jamath | Muslim Jamath | Masjid | 74,310/- | By custom | -YES | Khata Effected |

| | | | | Asst. No. 31. | 50' X 120' = 6,000 Sq. Ft. | North: Panchayat Road. South: Panchayat Road East: Bavikere to Karakuchi Road. West: Site. No. 32 | 4.20 | KTW/REG/ 12/CMR/ | | | | | | | |
|-----|---|-------|--------------|-------------------|-------------------------------|--|------|---|-----------------------------|-------------------|---------------------------|----------|--------------|------|----------------|
| | | | | Asst. No. 32. | 50° X 120° = 6,000 Sq. Ft. | North: Panchayat Road. South: Panchayat Road East: Site. No. 31. West: House of Razzak. | 4.20 | 1987-88, Dtd: 03-03-1988. | | | Masjid and Madarasa | | | | |
| 18. | Jamia Masjid and Arabic Madrasa and its allied properties, Bavikere, | Sunni | Bavi kere | Asst. No. 163. | 45' X 120' = 5,400 Sq. Ft. | North: Panchayat Road. South: Panchayat Road East: Site. No. 164. West: Site. No. 162. | 3.20 | | Waqf by User Govt. Land. | | | | | | |
| | Tarikere Taluk. | | | Asst. No. 164. | 45' X 120' = 5,400 Sq. Ft. | North: Panchayat Road. South: Panchayat Road East: Site. No. 165. West: Site. No. 163. | 3.20 | | | Musli m Jamath | | 50,300/- | By custom | -YES | Khata Effected |
| | | | | Sy. No. 178. | 0A-37G | North: Land belonging to Krishnamurthy Gowda. South: Land belonging to Kullayya S/o. Doddakullayya. East: Land belonging to Mariyappa S/o. Marappa. West: V.P. Road. | 5.00 | KSBA/REG/ 01/CMR/ 2018-19, Dtd: 20-08-2018. | | | Khabrastan | | | | |

| | | | | Sy. No. 156. | 08A-00G | North: Land belongs to Maimajja. South: K. Narasimhayya's Childrens property. East: Mohammed Ali. West: Sub-Chanel and Road. | 48.00 | KTW/REG/ 7/CMR/ 1999-2000, Dtd: 01-03-2000 | M. Ismail S/o. Haneef, Bavi Kere. | | Land | | | | |
|-----|---|-------|-----------------------|---|---|--|-------|--|--|-------------------|------------------------|----------|--------------|-----------|--|
| 19. | Makka Masjid Karakucchi, Tarikere Taluk. | Sunni | Kara kucch i | Sy. No. 28/2A. Asst. No. 86. | 50' X 65' = 3,250 Sq. Ft. | North: Sy. No. 28/2A. South: Sy. No. 28/2A. East: Masjid Land Sy. No. 28/2A. West: Sy. No. 28/2A. | 3.20 | KTW/REG/ 6/CMR/ 1981-82, Dtd: 06-02-1982. | Muslim Jamath | Muslim Jamath | Masjid | 36,500/- | By custom | -YES | Khata Effected |
| 20. | Arabic School and Mosque Sunni, Hosmane Gate, | Sunni | Range nahall i | Asst. No. 16. | 70' X 30' = 2,100 Sq. Ft. | North: T.T. Govindappa's House. South: Village Panchayat Road. East: Abu KaKa's House. West:Shivanna's House. | 3.00 | KTW/REG/ 1/CMR/ 2000-01, Dtd: 10-12-2003. | Muslim Jamath | Muslim | Masjid and Madarasa | | | | |
| | Tarikere Taluk. | | Basav anaha 1li | Sy. No. 9-P1P1. | 1A-00G | North: Sy. No. 9. South: Sy. No. 9. East: Sy. No. 9. West: Sy. No. 21. | 4.80 | KBW/REG/ 2/CMR/ 2007-08, Dtd: 07-12-2007. | Waqf By User Govt. Land. | Jamath | Khabrastan | 84,360/- | By custom | -YES - | Khata Effected |
| | | | Range | Old Asst. No. 277 (111) New Asst. No. 596. | $\frac{55' + 67'}{2}$ X $\frac{58' + 75'}{2}$ = 4,056 Sq. Ft. | North: Village Panchayath Land and Water Tank. South: Govt. School. East: Village Panchayath Land and House. West:Baragenahalli Road. | 6.00 | KTW/REG/ 2/CMR/ 1984-85, | Muslim Jamath | | Masjid | | | | As Per CR. 30' X 90' 2,700 Sq. Ft. As Per Sketch and Possession 4,056 Sq. Ft. Excess: 1,356 Sq. Ft. Khata Effected |
| 21. | Jamia Masjid and its allied property Rangenahalli, Tarikere Taluk. | Sunni | nahall i | Old Asst. No. 2018. New Asst. No. 214. | 15' X 90' = 1,350 Sq. Ft. | North: Gram Panchayat Property. South: Lakkavalli to Tarikere PWD Road. East: Nabi Sab's House. West: Gram Panchayath Road. | 2.50 | Dtd: 15-10-1986 | | Musli m Jamath | Shopping Complex | 51,350/- | By custom | -YES - | As Per CR. 15' X60' 900 Sq. Ft. As Per Sketch and Possession 1,350 Sq. Ft. Excess: 450 Sq. Ft. Khata Effected |

| | | | Vadd a radibb a | Sy. No. 46/P1P1 | 02A-00G | North: Sy. No. 53. South: Channel. East: Christian Burial Ground. West: Hindu Burial Ground. | 4.50 | KSBW/REG / 02/CMR/ 2011-12, Dtd: 24-02-2012. | Waqf By User Govt. Land. | | Khabrastan | | | | Khata Effected |
|-----|---|-------|--------------------------|---|---|--|-------|---|-----------------------------|-------------------|------------------------|----------|--------------|----------------------------|---|
| 22. | Sunni Jumma Masjid AhaleSunnat-Wal- Jamath, Halsoor Gate, Tarikere Taluk. | Sunni | Hala sooru | Old. Asst. No. 165. New Asst. No. 285. | 75' X 85' = 6,375 Sq. Ft. | North: Masjid Property. South: Lakkavalli MainRoad. East: HayathKhan's House. West: Govt. School. | 9.50 | KTW/REG/ 5/CMR/ 1989-90, Dtd: 14-12-1989. | Muslim Jamath | Musli m Jamath | Masjid | 77,300/- | By custom | -YES | Khata Effected |
| 23. | Khabrastanand EidgahSunni belonging to Halasoor Gate and GundenahalliJamaath , Tarikere Taluk. | Sunni | Hala sooru | Sy. No. 113. | 3A-0G | North:Lakkavalli to Tarikere Road. South: Property of Seetaramanna. East: Property of Gangamma and Pond. West:Halasuru Village Road. | 20.00 | KSBA/REG/ 65/CMR/ 2017-18, Dtd: 20-08-2018. | Waqf By User Govt. Land. | Musli m Jamath | Khabrastan | | By custom | -YES | Khata Effected |
| | Madeena Masjid and | | | Asst. No. | $\frac{42' + 38'}{2} \times 80'$ = 3,200 Sq. Ft. | North: V.P. Cart Road. South: V.P. Cart Road. East: V.P. Cart Road & Water Tank. West: Urdu School. | 3.20 | KTW/REG/ 15/CMR/ 1987-88, Dtd: 13-04-1988. | Muslim Jamath | Muslim | Masjid | | | | Khata Effected |
| 24. | GhousiyaMakan, Gundenahalli, Tarikere Taluk. | Sunni | Gund enaha Ili | Asst. No. 95. | 73 ½' X 32' = 2,352 Sq. Ft. | North: V.P. Road. South: G.O. Chandra Shehar's House. East: Smt. Jayamma's House. West: V.P. Road. | 3.00 | KSBA/REG/ 19/CMR/ 2017-18, Dtd: 27-10-2017. | | Jamath | Madrasa. | 53,900/- | By custom | -YES | As Per CR 39' X 67' = 2613 Sq. Ft. As Per Sketch and Possession 2,352 Sq. Ft. Less = 261 Sq. Ft. |
| 25. | Noorul Huda Jumma Masjid and Arabic Madrasa AhaleSunnathulJama th, Doddakunduru, Tarikere Taluk. | Sunni | Dodd a kun duru | Asst. No. 190. | 87' X 80' = 6,960 Sq. Ft. | North: Bhadra Channal and Road. South: Land belonging to Shabbir Sab. East: Main Road. West:Sarkari Land. | 7.00 | KBW/REG/ 41/CMR/ 2013-14, Dtd: 25-03-2014. | Muslim Jamath | Muslim Jamath | Masjid and Madarasa | 52,200/- | By custom | -YES - | Khata Effected |
| 26. | Badriya Jumma Masjid and Arabic Madrasa, Malikoppa, Tarikere Taluk. | Sunni | Mali koppa | Asst. No. 08. Sy. No. 13 | $\frac{(150' + 260')}{2}$ X $\frac{(260' + 167')}{2}$ = 43,767.5 Sq. Ft | North: Channel. South: Road. East: Road & Govt. School. West: Private Property. | 10.00 | KTW/REG/ 7/CMR/ 1981-82, Dtd: 05-06-1982. | Muslim Jamath | Muslim Jamath | Masjid and Madarasa | 60,000/- | By custom | Deem ed Appro ved | Khata Effected |

PÈÁðI PÀgÁdælvællägŪÁgÅ 11, ಜೂನ್, 2020

"ÁUÀ4J

| 27. | Muslim Khabrastan as Addl. Property of Jamia Masjid, Lakkavalli, Tarikere Taluk. | Sunni | Lakka valli | Sy. No. 37 | 3A-20G | North: Sy. No. 38 & 108 South: Village Land. East: Pond (Katte). West: Sy. No. 36. | 40.00 | KTW/REG/ 2/CMR/ 1986-87, Dtd: 17-03-1987. | Waqf By User Govt. Land. | Muslim Jamath | Khabrastan | By custom | -YES | Khata Effected |
|-----|--|-------|----------------|---------------|--------|--|-------|---|-----------------------------|------------------|------------|------------------|------|----------------|

Total No. of Institutions: 27 Total No. of properties: 59

Total extent in A-G : 49A-12G

Total extent in Sq.ft. : 3,02,946.67 Sq.ft.

By Order and in the Name of the Governor of Karnataka

(C.PUTTANANJAIAH), Under Secretary to Government, Revenue Department (SSLR)